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Before we begin, are there any questions from last day's work?

3.4.2 #1-12
Today's Learning Goal(s):

By the end of the class, | will be able to:
a) solve polynomial equations by selecting and applying strategies
i.e. factoring, using the quadratic formula

b) solve problems algebraically that involve polynomial functions & equatiol
arising from real-world applications
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3.5.1 Solving Polynomial Equations pue: (a2 H(F
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3.5.2 Applications of Polynomial Equations Date: dlm. Q 1[{27-

1. A box with dimensions (x + 3), (x - 2), and (5 - x) in metres has a volume of 14 n®.
Determine the dimensions of the box.
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2. The area of a rectangle is given by A =22 + 9x + 4. ©

N nex¢ Scree
If the perimeter of the rectangle is 46 cm, determine the area of the rectangle.

Answers:

1. There are two possibilities for the size of the box: 2m by 7m by 1m AND 1.32m by 6.32 m by 1.68m
2. 130 cm?
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2. The area of a rectangle is given by A =22 + 9x + 4.
If the perimeter of the rectangle is 46 cm, determine the area of the rectangle.
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. the area of the rectangle is 130 cmz2.



	Page 1: Mar 30-9:19 PM
	Page 2: Mar 22-11:55 PM
	Page 3: Mar 23-12:03 AM
	Page 4: Oct 16-9:00 AM

